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QUESTION 1

Which two methods does VMware NSX offer to integrate with third-party partners? (Choose two.)
A. Integration Manager

B. Service Chaining

C. VMware NSX APIs

D. Universal Synchronization Service

Correct Answer: BC

QUESTION 2

Which would best describe a workload in Compute Cluster 1 attached to a logical switch port group?
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Comput& Cluster 1 Compute Cluster 2 Edge

A. Within Compute Cluster 1, Layer 2 would function, but Layer 3 would fail.

B. Within Compute Cluster 1, Layer 2 would fail, and Layer 3 would fail.

C. Within Compute Cluster 1, Layer 2 would fail, but Layer 3 would function.

D. Within Compute Cluster 1, Layer 2 would function, and Layer 3 would function.

Correct Answer: A
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QUESTION 3

How is high availability of the NSX Edge Gateway accomplished?

A. HA Application Monitoring on the Edge Gateway sends a heartbeat to the ESXi host.
B. VMware Tools on the Edge Gateway sends a heartbeat to the ESXi host.

C. The Edge appliance sends a heartbeat through an uplink interface.

D. The Edge appliance sends a heartbeat through an internal interface.

Correct Answer: D

QUESTION 4

What is a requirement of NSX Data Security?

A. NSX manager must be configured for Active Directory integration.
B. The Global Flow Collection Status must be set to Enabled.

C. Guest Introspection must be installed on the cluster.

D. AN IP Pool must be created.

Correct Answer: C

QUESTION 5

Your environment has two sites designated as Site A and Site B. Each site has its own vCenter Server instance with
NSX installed and configured in standalone mode. You are migrating the environment to Cross vCenter and have
already promoted Site A to the Primary role. What action must be taken before the NSX Manager at Site B can be

changed to Secondary?

A. Migrate the Site B Controllers to Site A.

B. Convert the Site B Controllers to Universal Controllers.

C. Remove any logical switches from the Site B NSX Controller.
D. Delete the Controllers at Site B.

Correct Answer: D
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